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SH sAEHY
M SHAMEN U SEASE
el SHAMEX
HB - B (3H) - NEAY - BAS O 4t o8 il
—gugl §
5,400
— S ANHIEE A 6,000
-=sg%)|=4dH 3,000
-=S83 Wy £ 2,000
OSEXse 2= 31,860
-ZB8SEX 900
-SgEsEX 2,280
-HEgsEX 1,180
-SgsExt 1,300
- AESEX * 14,280
-ZEII=EX 6,750
-HESEX 2,460
- A28 EX 2,050
-SEEx 660
o=gxg AsX 3,725
-dES5EX 130
-SE5E2X 700
-HEgseEx 700
- SEX 130
- AEIEX * 1,050
-Z83=2X 495
-UHE3 22X 210
- A2EELI 250
-S8E+x 60
O2EXg AEH L =4&H| 243,200
-ZB8SEXN 7,400
-SEsEX 18,000
-HEgsEx 10,600
-SgsExt 9,400
- AESE X 105,000
-ZEIEX 45,900
-HESEX 16,500
- A28 EX 25,000
-SEEx 5,400
HEd 59 S8 U M MY PV 2,283,315 2,409,428
= 155,233
= 385,720
Al 1,742,362
Hetdsd |4 124,500 270,000
206 M = Hl 2,000 2,000
01 24l 2,000 2,000
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2AN: sgEHY
M SMAMEN U SEASH WY
Pl MBS RA L 4 M A 23 (el @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 1,680
Al 6,720
SINsSXM A3 30,000 40,000 A 10,000
= 12,000
= 5,400
Al 12,600
307 2Iz2t0| & 30,000 40,000 A 10,000
=2 12,000
[ 5,400
Al 12,600
02 QIZHAAAIE E X 30,000 40,000 A 10,000
ORI=sYANM XA 30,000
= 12,000
o=} 5,400
Al 12,600
SI=s d&s)t JIE2 - 8 ANEAY 84,000 0 84,000
= 24,000
Al 60,000
402 SI2F 20| & 84,000 0 84,000
= 24,000
Al 60,000
02 QX2 AL EX (0| & THS) 84,000 0 84,000
ORJsg d==sIF JIE2 ., 8 AIAY 84,000
= 24,000
Al 60,000
SX0I8R2 TAIE 2 26,047 24,450 1,597
= 18,233
Al 7,814
101 e1214| 23,443 21,320 2,123
= 16,410
Al 7,033
04 J|12ZtHIZ22NEES 23,443 21,320 2,123
O=sXolsae ZAE 29 23,443
_so 15,238
= 10,667
Al 4,571
-= 8,205
= 5,743
Al 2,462
201 LBt 9| 2,604 3,130 N526
= 1,823
Al 781
01 AP 22| H| 2,604 3,130 AbB26
OsXolsae 89| 2,604
= 1,823
Al 781




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=Xl 2l 20,750 35,750 A 15,000
201 £B-2d| 18,350 33,350 A 15,000
01 At 22l 18,350 33,350 A 15,000
OESHEE EL2EE At
1,150,000& * 153/ 17,250
Osg4dEs YR 550,000& * 23| 1,100
202 o4dl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OsA&el g2F=2 ol 600,000 * 4 2,400
=M MEH=& EZ Iz 180,000 280,000 100,000
< 180,000
307 21201 A 180,000 280,000 A 100,000
< 180,000
02 LAFAAHEX 180,000 280,000 100,000
O=2H dEH=d Z& M=l 180,000
= 180,000
HeEtdsits RS2ds NBAY 14,000 0 14,000
< 4,000
Al 10,000
402 2I2H X201 M 14,000 0 14,000
< 4,000
Al 10,000
02 QI 2 A EZ(OI X TH ) 14,000 0 14,000
O sdts RS&4ds NFAY 14,000
< 4,000
Al 10,000
MEsgHX =24 90,000 0 90,000
< 90,000
402 RIZEX20| A 90,000 0 90,000
= 90,000
02 LA TEALEZ(0IETHR) 90,000 0 90,000
OdEsHHI =4 90,000
< 90,000
HEd oS E2EolEs S NBAMY 140,000 0 140,000
402 RI2tXt20l A 140,000 0 140,000
01 2IZt Xt 2 AL E = (REM ) 140,000 0 140,000
Ozed =2 EZddols M XNBAY 140,000
TEd os5=s0t OHAHE NEAE 28,000 0 28,000
402 RI2EX20| M 28,000 0 28,000
01 2I2F 2 A E = (KM TH ) 28,000 0 28,000
O AS=0t 0AHE X2 ALY 28,000




SN SR
M SMAMEN U SEASH WY
el AAY B4 U SYUAS 2A (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AlEgsd 4 @ sgaAs B2 20,415,968 14,411,942 6,004,026
= 2,545,000
J| 8,917,212
< 3,119,893
Al 5,833,863
ISE B ANEEX =4 39,200 28,030 11,170
< 11,200
Al 28,000
307 gl2tol & 39,200 28,030 11,170
< 11,200
Al 28,000
02 It M AHE L 39,200 28,030 11,170
OLNSE & MM =4 39,200
< 11,200
Al 28,000
Jlsd & THHHEX =4 5,600 2,800 2,800
< 1,600
Al 4,000
307 glz2tol & 5,600 2,800 2,800
< 1,600
Al 4,000
02 It M AMHEE 5,600 2,800 2,800
OJdlsd & THHHE X =4 5,600
< 1,600
Al 4,000
2EH Hzg NJAY 680,400 690,600 210,200
307 21201 A 680,400 690,600 A 10,200
02 QIAFAANFEX 680,400 690, 600 210,200
O2=4dHlg XNJAALY
18,000& * 2,700ha * 20X = 70% 680,400
H gals 3sYH XNE(ZHEX) 45,000 40,000 5,000
< 9,000
Al 36,000
206 = Hl 45,000 40,000 5,000
< 9,000
Al 36,000
01 MHZ 4l 45,000 40,000 5,000
Obf gaols SsYM s (SLLNHlH
sgYas S) 100,000& * 450ha 45,000
< 9,000
Al 36,000
H gais 3SLH X3 (M) 400,000 400,000 0
206 M= Hl 400,000 400,000 0
01 MHZ 4l 400,000 400,000 0




2N

ST
M SMAMEN U SEASH WY
el ARG BA U SAS BH (el:de)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ol gils SsLM sAdFL(SLYRNHIM
sSgYls) 100,000& = 2,000ha * 23| 400,000
H golls ss2H s&2g9 s NA(ZHEX) 102,000 60,000 42,000
< 30,600
Al 71,400
307 gl2tol & 102,000 60,000 42,000
< 30,600
Al 71,400
02 IZtEHAHE L 102,000 60,000 42,000
OH Holls Ss2M &g tdas
120,000& * 850ha 102,000
< 30,600
Al 71,400
H gz 2S2H s HEES XS (MAAY) 180,000 180,000 0
307 21201 A 180,000 180,000 0
02 It S AIHE L 180,000 180,000 0
OH Holls SS2M s&g tds
120,000& =« 1,500ha 180,000
H SR 2AY 891,000 872,000 19,000
301 LA F 891,000 872,000 19,000
12JIE243 891,000 872,000 19,000
Ol 248l XA
3,300& * 3004 K+ = 1,800ha * 50% 891,000
H 2% 2+ 2 Fdl X2 30,000 12,000 18,000
402 RIZ2FX201 ™ 30,000 12,000 18,000
01 RIZt Xt 2 AL E = (REATH &) 30,000 12,000 18,000
OH £2& HE+ 2 U=
10,000,000& * 6IH & * 50% 30,000
SAM AED X3 A 6,000 0 6,000
< 6,000
402 RIZEX20l A 6,000 0 6,000
= 6,000
02 LA TEALEZ(0IETHR) 6,000 0 6,000
OsAM &=ZI X 6,000
< 6,000
S AEALE FHHl X 26,750 36,000 A9,250
< 6,750
Al 20,000
206 = Hl 26,750 36,000 A9,250
< 6,750
Al 20,000
01 MHZ 4l 26,750 36,000 A 9,250
O=2% HMAIE HHIXE (EHS) 26,750




2N sYHHD
CS b

M SMAMEN U SEASH WY
Crol AlZMY BN U SUAS BA (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 6,750
Al 20,000
FesAz2E W XA 17,280 17,280 0
307 gl2tol & 17,280 17,280 0
02 IZHE M AHE L 17,280 17,280 0
O=<ecly, 2EelsX, H=7gds N2
360,000& = 80ha * 60% 17,280
EONI L RPNV AR 6,000 6,000 0
307 21201 A 6,000 6,000 0
02 It S AHE L 6,000 6,000 0
OZaHE 2gdl XA
500,000& = 24ha *» 50% 6,000
H THEHsot 2EE N3 K& 500,000 484,790 15,210
< 237,000
Al 263,000
301 LA F 500,000 484,790 15,210
< 237,000
Al 263,000
12 JIEtE 43 500,000 484,790 15,210
O M=ot 2 s N3 500,000
< 237,000
Al 263,000
SAOI28) ASHAY 2yl 65,212 65,212 0
J| 65,212
101 @14 Hl 15,000 15,000 0
J| 15,000
04 JIZtHZ2XNHEE S 15,000 15,000 0
OFML U HIHZY S o Ay 15,000
J| 15,000
201 L2l 35,212 35,212 0
| 35,212
01 At 22l 35,212 35,212 0
OZARZAHAY 280 ANSBE 79 U 29
A3 2IHl S 35,212
J| 35,212
202 o4dl 15,000 15,000 0
J| 15,000
01 = LH o4 1l 15,000 15,000 0
OSUXEMAIY EXNZAL & EES SE0YI 15,000
J| 15,000
SAQI2E) AEMMY HES 8,700,000 11,000, 000 22,300,000
J| 8,700,000
301 LA F 8,700,000 11,000,000 22,300,000




AN sHEMD
M SMAMEN U SEASH WY
el AAY B4 U SYUAS 2A (sl &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Il 8,700,000
12 JIEtE4 3 8,700,000 11,000, 000 A 2,300,000
O32A((JI=28) AEMAMY HNEZ 8,700,000
J| 8,700,000
sHge =g = 5,400,000 0 5,400,000
< 2,400,000
Al 3,000,000
301 LEHF 5,400,000 0 5,400,000
< 2,400,000
Al 3,000,000
12JIE243 5,400,000 0 5,400,000
Osgel=g Xa 5,400,000
< 2,400,000
Al 3,000,000
sojgosy NS el 74,036 0 74,036
< 36,383
Al 37,653
101 @14 Hl 9,955 0 9,955
< 9,955
04 JIZHHZ2XRHEES 9,955 0 9,955
OdMEE & MRS JI2HH 22X oA
u]l 9,955
< 9,955
201 £B-2dH| 64,081 0 64,081
= 26,428
Al 37,653
01 At 22l 64,081 0 64,081
Os0{2ol &g SR80 A L Ao
3 2994 & 4,660
< 2,660
Al 2,000
OXNYstH g2 59,421
< 23,768
Al 35,653
= ERES WIS (2 SA4XFH) A 28,000 340,000 A 312,000
< 8,400
Al 19,600
301 LEAZ 28,000 340,000 A 312,000
< 8,400
Al 19,600
12 JIEtE4 3 28,000 340,000 A 312,000
O=EIXHSTHUH (B M AZTHH )X 2 AL
400,000& * 70ha 28,000
< 8,400
Al 19,600
ISE H 223 224 N 30,000 0 30,000




SN S

M SMAMEN U SEASH WY

el AAY B4 U SYUAS 2A (sl &2)
_ RE]

SA BB (SH) - NRAY - B Ol At o %@i HRE2
307 2Iz2to| & 30,000 0 30,000
02 QIZHA AAIE E X 30,000 0 30,000

OB H B2 LU X 30,000

NEE & MA HAHAZ2 X 90,000 90,000 0
301 et A =2 90,000 90,000 0]
12 JIEtE A= 90,000 90,000 0

ONZIZE & MA AHHZ2 XA
33,0008 = 60,000 * 50% 90,000
A AMALFXAN J|BFEAM ALY 3,000 8,000 A5,000
o=t 3,000
307 2iz2to| & 3,000 8,000 A5,000
= 3,000
02 QIZIA AAIE E X 3,000 8,000 A5,000
O MAXH JIBFXAE ALY 3,000
o= 3,000
=E32(=012%) ZENMAY 152,000 0 152,000
J| 152,000
301 dEtE M= 152,000 0 152,000
J| 152,000
12 JIEtE A= 152,000 0 152,000
O=2Z2(=0|2%) MNEH A
500,000& = 304ha 152,000
J| 152,000

Al SFAFA 5,890 5,790 100
201 LBt | 3,290 3,290 0
01 AP 22| d| 3,290 3,290 0

OH Yols2Hd 823 &4 ¢
70,000& * 10Y = 23| 1,400
OHIZANE M8 25 HE S
5,000 * 1000H 500
OH HYSBSE &8 823 ¢
70,000& x 129 * 13| 840
OAMMAEX a0t HA 550002 * 100 550
202 044l 2,500 2,400 100
01 2L Y| 2,500 2,400 100
OAMSAMA AR =X 500,000 = 5 2,500
310 =220/ & 100 100 0
02 =M 100 100 0
O=H FAO B2 100
k= 2| 8,000 8,000 0
= 3,000
Al 5,000

_20_




<

n0

Kio

Hl w

2,819,800

2,819,800

2,819,800

90,000
90,000
90,000

2,160

10,800

10,800

H3r
Wikd
RIS

3,000
3,000
4,000
4,000
1,000
1,000

10,000
10,000
10,000

8,640

Off &t 24

3,000
3,000
3,000
3,000
3,000
4,000
4,000
4,000
1,000
1,000

1,000

2,819,800
2,452,000

fir

H

367,800
2,819,800
2,452,000

fir

H

367,800
2,819,800
2,819,800
2,452,000

i

H

90,000
90,000
90,000
90,000
90,000
90,000
90,000
10,000

367,800

fir

10,000
10,000
10,000
10,800

W

2,160
8,640
10,800

Al

H

2,160
8,640
10,800

Al

ol
=

% 4% % 20

=

o

50,000

b

tel i

el
)

01 ALR
12 JIE}
307 gl2tol ™

201

100
H
S}

<0

I+

ol

ol

i
E=)
Mo
Mo

* 108 » 2013

[0
o

50,00

z0ld

|,

402

ol

o
30
el
1o
ok

-

El
KU
Ho

206 M= Hl
01 M=l

I
ol

=

& * 2,500

e

4,000

12 JIEtE &

307 21201 &

of

4
Ur

0H
2
Y
R0
o
31
rd

-,

10,800

[und

2 * 150=0t * 12048

6,000&




SN S
MY SHAMEN U sELASH Y
el ARG BA U SAS BH (el:de)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 2,160
Al 8,640
sZJI A E& 845,310 747,232 98,078
= 132,020
< 169,787
Al 543,503
SIIH 2el 2,400 2,400 0
202 04l 2,400 2,400 0
01 =LHOIHI 2,400 2,400 0
OsJlA el g2=2 odl  600,000& » 4H 2,400
S BE L =342 13,550 13,550 0
201 L4 5,550 5,550 0
01 At 22l 5,550 5,550 0
Ous(ddl) &8 =J1H SXNL(ESHHS 2
9E) 5,000
OsSJIANSAHEAIDNNY EEE ST HA
55,000& = 104 550
206 T 24 6,000 6,000 0
01 M= 4l 6,000 6,000 0
OsJ1H =32 2357 (1605) 5,000
OsJIH =3s2luns 224837 2¢
200,000& = 5MIE 1,000
301 LPEAZ 2,000 2,000 0
09 AL HIXI &3 2,000 2,000 0
O - & sJHus 4L BEad= S
100,000& = 5% « 43| 2,000
SI1 YA 222,534 230,094 AT7,560
101 @124 dl 75,634 72,214 3,420
04 JI2ZHHZ2XREES 75,634 72,214 3,420
OsJIH dUiAg 2e2d 20 (II12HA) 73,744
-JlE= 78,000& = 170 = 3H 39,780
- R=25gsE 78,0003 = 42 » 39 9,828
—HEaE 78,000& * 8& =+ 3Y 1,872
-35d=¥ 78,0003 » 82 » 3H 1,872
- =AM 5,000& = 170 » 39H 2,550
—AN2Z2RsE
14,630 = 30AI2H » 8& » 3H 10,534
-4 EE= 66,436,000& * 11% 7,308
OsJIH A 223 1=l 930
-5 150,000& + 3 450
-ot= 100,000& * 3¥H 300
—OtM3L - 2% 60,0002 » 3H 180

- 22 -




SN S
M SMAMEN U SEASH WY
el SN BA CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OsIIHYUHAIS Z 22 A SHH(FL2R)
8,000& = 54! « 8&8 » 3H 960
201 L2l 95,900 100,380 24,480
01 At 22l 10,060 17,980 AT,920
OsJIH LAY dos 4 =
70,0002 * 102 * 13| 700
OS2 YUASA (2L, 24 20HL) 9,360
~S0(XT)FHIAIAY 2(8Y L HSE
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